

Total amount of chemical bought in 2025

	Date delivered	Invoice #	# of totes purchased	Gallon	Costs per gallon	Total cost per tote/ Container	Notes
GrazanPD&3	4/30/2025	216186	1	250	\$ 42.98	\$ 10,745.00	vandiest supply
	9/30/2025	267635	2	500	\$ 57.70	\$ 28,850.00	vandiest supply
wrong charge per gallon emailed Rex on 10-17-2025 & called finance office at vandiest supply							
Tordon			0	0	\$ -	\$ -	
2,4-D Amine	4/23/2025	56692481	1	265	\$ 14.50	\$ 3,842.50	Nutrien ag supply
	7/1/2025	57503522	2	530	\$ 14.50	\$ 7,685.00	Nutrien Ag supply
Power pronone pellets	1/22/2025	192579	0	4	\$ 402.20	\$ 1,608.80	4 pails vandiest supply
Freelex	4/21/2025	56692481		70	\$ 32.75	\$ 2,292.50	Nutrien Ag supply
			0	0	\$ -	\$ -	
Element			0	0	\$ -	\$ -	
Tempo			0	0	\$ -	\$ -	1 bottle
Escort			0	0	\$ -	\$ -	16 ounces
Mad Dog	7/8/2025	57555682	0	5	\$ 16.60	\$ 83.00	Bridges & delinators
method			0	0	\$ -	\$ -	
Activator 90	5/5/2025	56836336	0	5	\$ 19.80	\$ 99.00	5 gallons
Aquaneat	7/17/2025	57646199	0	5	\$ 27.80	\$ 139.00	cattail spray
Aquaneat	8/15/2025	57751762	0	10	\$ 27.80	\$ 278.00	
Aquaneat	9/15/2025	57824476	0	5	\$ 27.80	\$ 139.00	
Aquaneat	9/15/2025	57856653	0	10	\$ 27.80	\$ 278.00	
LI 700	7/17/2025	57646199	0	5	\$ 27.00	\$ 135.00	cattail spray
LI 700	9/15/2025	57856653	0	10	\$ 27.00	\$ 270.00	
Mosquito Chemical							
permaSease 4-4	7/29/2025	SO301002063	0	55	\$ 28.98	\$ 1,593.90	Mosquito fog
chemical for trees to be applied after cutting within an hour.	1/15/2026	NS2516449	0	80	\$ 47.98	\$ 3,838.40	Tree killer wont freez as long as you get it sprayed on within an hour.
Total Chemical for 2025				1809		\$ 61,877.10	

Ordered in 2025 but paid for in 2026

2025 Township Gopher reporting and repayment

Townships	Participating townships	Total Amount of Gophers Trapped	Total amount Paid to Trappers from townships	Total amount weed dept paid to townships	Date received
Afton Township		0	\$0.00	\$0.00	
Alton Township	yes 3-26-2025	14	\$28.00	\$21.00	11/19/2025
Argo Township		0	\$0.00	\$0.00	
Aurora Township	yes 4-16-2025	0	\$0.00	\$0.00	
Banger Township	yes 3-26-2025	104	\$194.00	\$156.00	11/17/2025
Brookings Township	yes 4-17-2025	0	\$0.00	\$0.00	
Elkton Township		0	\$0.00	\$0.00	
Eureka Township	yes 3-6-2025	25	\$50.00	\$37.50	
Lake Hendricks Township		0	\$0.00	\$0.00	
Lake Sinai Township		0	\$0.00	\$0.00	
Laketon Township		0	\$0.00	\$0.00	
Medary Township		0	\$0.00	\$0.00	
Oak Lake Township		0	\$0.00	\$0.00	
Oakwood Township	yes 4-4-2025	198	\$396.00	\$297.00	12/1/2025
Oslo Township	yes 3-6-2025	105	\$210.00	\$157.50	11/24/2025
		75	\$150.00	\$112.50	
Parnell Township		0	\$0.00	\$0.00	
Preston Township	yes 4-14/2025	194	\$388.00	\$291.00	11/17/2025
Richland Township		0	\$0.00	\$0.00	
Sherman Township		0	\$0.00	\$0.00	
Sterling Township	yes 3-27-2025	0	\$0.00	\$0.00	no gophers 11/17/2025
Trenton Township	yes 3-26-2025	0	\$0.00	\$0.00	
Volga Township	yes 4-22-2025	0	\$0.00	\$0.00	yes but missed the deadline for paper
Winsor Township	yes 4-22-2025	0	\$0.00	\$0.00	yes but missed the deadline for paper
Total		715	\$1,430.00	\$1,072.50	
Total \$ from ITC & Sioux Valley					

12 townships participation

9 townships not participating

Sent letters and gopher number claim sheets to involved townships October 20, 2025

2025 Township Spring Spray Run

Townships	Per mile rate	Total Miles	Miles Charged for	CHEMICAL	UNITS(OZ)	RATE/OZ	Charge for Chemical	NET BILLING	CK #	Paid	
Afton	\$ 45.00										no contract received
Alton	\$ 45.00										Declined services
Argo	\$ 45.00										Declined services
Aurora	\$ 45.00	71	\$ 3,195.00	2,4-D Amine	3467	\$ 0.25	\$ 866.75	\$ 4,061.75	2352	\$ 4,061.75	2,4-D Amine Spring & Fall
Bangor	\$ 45.00		\$ -				\$ -				Declined services
Brookings	\$ 45.00	63.5	\$ 2,857.50	2,4-D Amine	2508	\$ 0.25	\$ 627.00	\$ 3,484.50	2255	\$ 3,484.50	2,4-D amine spring and fall
				freelex	160	\$ 0.30	\$ 48.00	48.00	2255	\$ 48.00	
Elkton	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Townships	Per mile rate	Total Miles	Miles Charged for	CHEMICAL	UNITS(OZ)	RATE/OZ	Charge for Chemical	NET BILLING	CK #	Paid	
Eureka	\$ 45.00	28	\$ 1,260.00	2,4-D Amine	3435.31	\$ 0.25	\$ 858.83	\$ 2,118.83	1512	\$ 2,118.83	2,4/D amine Spring & Grazon PD&3 in the fall
Lake Sinai	\$ 45.00		\$ -				\$ -	\$ -			no contract received
lake Hendrick	\$ 45.00		\$ -				\$ -	\$ -			
Medary	\$ 45.00	72	\$ 3,240.00	platoon (2,4-D Amine)	6741	\$ 0.25	\$ 1,685.25	\$ 4,925.25	2775	\$ 4,925.25	2,4-D Amine Spring & grazon PD&3 Fall
Oak Lake	\$ 45.00	70	\$ 3,150.00	2,4-D Amine	5874	\$ 0.25	\$ 1,468.50	\$ 4,618.50	2820	\$ 4,618.50	2,4-D Amine Spring & grazon PD&3 Fall
Oakwood	\$ 45.00	64	\$ 2,880.00	2,4-D Amine	3271	\$ 0.25	\$ 817.75	\$ 3,697.75	1811	\$ 3,697.75	2,4-D Amine Spring & grazon PD&3 Fall
Parnell	\$ 45.00		\$ -				\$ -	\$ -			4-3-2025 not participating
Preston	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Richland	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Sherman	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Sterling	\$ 45.00	61	\$ 2,745.00	Freelex	3008	\$ 0.30	\$ 902.40	\$ 3,647.40	1124	\$ 3,647.40	Spring and fall Freelex
Volga	\$ 45.00	93	\$ 4,185.00	2,4-D Amine	3287	\$ 0.25	\$ 821.75	\$ 5,006.75	3539	\$ 5,006.75	2,4-D Amine spring
Winsor	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Totals for all townships		522.5	\$ 23,512.50		31,751.31		\$ 8,096.23	\$ 31,608.73		\$ 31,608.73	

Townships involved in spray program
Townships not involved in spray program
Townships that have paid for spray season

2025 Township Fall Spray Run

Townships	Per mile rate	Total Miles	Miles Charged for	CHEMICAL	UNITS(OZ)	RATE/OZ	Charge for Chemical	NET BILLING	CK #	Paid	
Afton	\$ 45.00										no contract received
Alton	\$ 45.00										Declined services
Argo	\$ 45.00										Declined services
Aurora	\$ 45.00	68	\$ 3,060.00	2,4-D Amine	7042	\$ 0.25	\$ 1,760.50	\$ 4,820.50	2369	\$ 4,820.50	2,4-D Amine Spring & Fall
Bangor	\$ 45.00		\$ -				\$ -				Declined services
Brookings	\$ 45.00	63.5	\$ 2,857.50	2,4-D Amine freelex	7135	\$ 0.25	\$ 1,783.75	\$ 4,641.25	2257	\$ 4,641.25	2,4-D amine spring and fall
						\$ 0.30	\$ -	\$ -			
Elkton	\$ 45.00		\$ -				\$ -	\$ -			no sercontract received
Eureka	\$ 45.00	46	\$ 2,070.00	Grazon PD&3	3198	\$ 0.50	\$ 1,599.00	\$ 3,669.00	1512	\$ 3,669.00	2,4/D amine Spring & Grazon PD&3 in the fall
Lake Sinai	\$ 45.00		\$ -				\$ -	\$ -			no contract received
lake Hendricks	\$ 45.00		\$ -				\$ -	\$ -			
Medary	\$ 45.00	67	\$ 3,015.00	Grazon PD&3	6220	\$ 0.25	\$ 1,555.00	\$ 4,570.00	2775	\$ 4,570.00	2,4-D Amine Spring & grazon PD&3 Fall
Oak Lake	\$ 45.00	77	\$ 3,465.00	Grazon PD&3	3708	\$ 0.50	\$ 1,854.00	\$ 5,319.00	2831	\$ 5,319.00	2,4-D Amine Spring & grazon PD&3 Fall
Oakwood	\$ 45.00	48	\$ 2,160.00	Grazon PD&3	1152	\$ 0.50	\$ 576.00	\$ 2,736.00	1811	\$ 2,736.00	2,4-D Amine Spring & grazon PD&3 Fall
Parnell	\$ 45.00		\$ -				\$ -	\$ -			4-3-2025 not participating
Preston	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Richland	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Sherman	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Sterling	\$ 45.00	78	\$ 3,510.00	Freelex	10660	\$ 0.30	\$ 3,198.00	\$ 6,708.00	1124	\$ 6,708.00	Spring and fall Freelex
Volga	\$ 45.00	86	\$ 3,870.00	2,4-D Amine	6556	\$ 0.25	\$ 1,639.00	\$ 5,509.00	3539	\$ 5,509.00	2,4-D Amine spring & fall
Winsor	\$ 45.00		\$ -				\$ -	\$ -			no contract received
Totals for all townships		534	\$ 24,007.50		45,671.00		\$ 13,965.25	\$ 37,972.75		\$ 37,972.75	

Called Mark . On 1-13-2026 left message

called Julie Muirphy on 1-13-2026

Townships involved in spray program
Townships not involved in spray program